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Section 3.6 Order of Operations with Rational Numbers -

(D) 22 Gpraioss”

Tetles 2 £splol :
B Do the operations in brackets first P.. Wentwt;o
E Next, evaluate any exponents £ - Epwornenles
e A
¢ } Then, divide and multiply in order from left to right D - Pivisto
) M- Mo Lcaceort
’;‘ } Finally, add and subtract in order from left to right 4 - b&'ccon (Servar)
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Order of Operations with Decimals
4/
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Example # 1 (-2.4)+1.2-7x0.2 >
H2 e Dyision /RiMERo
—TN : e
=2-7x02 T Sreunpo : Multiplicacion
5‘)(,«»34,, =-2-14 3 nqmgm:;/
o o?" a— = -2+ (-1.4) &3) fArs KesTar :
12 s o Svra lo OpuesTo
Example # 2 (-3.4+0.6) + 4°x 0.2
’TL #2 e, 4/ farenTesis
- .28+4°%02 sl 0 TE
=-2.8+16x0.2 Tt # 3 MoITiplicacion
=-28+324743
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Example # 3 (g%) + (}:3) X (-—~ 3) st inii e oo Biitiggieloren, N
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Error Questions

1. A student's solution to a problem, to the nearest hundredth, is shown below.
The solution is incorrect. ldentify the errors. Provide a correct solution.

{/éDofw‘e, ests” el error. ??)
\_/\_/\/ B G B =

#]
(-8.2) + (-0.2)-2.9x(-5.7)

z—J’k————-\ € ———
67.28 + (0.2} -2.9%-5.7)
67.24 =+ (-0.2)—16.53
67.24 + (16.73)

~ 4,02

b, 4

il

i

pRIimERD £~ Leg d /e division

Wﬂmas / 2 2&Spues'ﬁv CokrLecTa:
Answer: (-8.2)* + (~0.2) =2.9x (-5.7)

s —

67.24 + (0.2} =2.9%(-5.7)

~336.2-29 % 5.7}

= 336.2 - 1653

-352.73
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2. Two students were asked 1o evaluate:
(~8) - 2(24 + (-8))°

Here are their calculations. CJ Donde. es7a e/ ErRRoR e

Student 1 Student 2

(-8) - 2(24 + (-8))° (-8) - 2(24 + (-8))°
= (-10) (24 + (-8))? = (-8) -2 (-8)°

= (-10)(-3)? = (-8) - (-6)?

= (-10) (9) = -8-36

= -90 = - A

Why did both these students get incorrect

answers? What is the correct answer?
€5%e osTuckanTd

Answer: Resto” prRimero.
Debepin de
Sruc:i@m V 44&,@5@ Ahecho of Student 2 i [
(8) W24+ (-B) pakedvesis. (-8) - 224+ (-8)° | _ 7Y ',,»9“‘1
= (-10) (24 + (-8))° = {- 8)@ Aq"_r' el
= (-10)(-3)? - B~ BF AT “Ixa ado
= (-10) (9) = -8-36
= -90 = .44
Student 1 subtracted first. Student 2 multiplied 2 and 3
They didn’t follow BEDMAS. when they should have done the
//ﬁ) exponent next.
espues =
Correct Answer: . <
: o« e Se Hace foirero
A 2
=183 3 (*7) -2 (=3 -
= (-8) - 2(9)
x{ug -18 (‘3) "ZJ(M) s

)
= -26 -85 -9 = -26



